


1

5

9

13

17

6

10

14

18

7

11

15

19

8

12

16

20

2 3 4

2pcs

2pcs 2pcs 2pcs 2pcs



21

25

29

26 27 28

22 23 24

2pcs 2pcs

A

F

L

R

B

G

M

S T U V

C

H

N

D

J

P

E

K

Q

M3X28
28PCS

M6X40
8PCS

2PCS

2SET

Ø15X10
28PCS

M6X25
2PCS

1PC

M5X40
12PCS

M6X10
12PCS

1SET

1SET 4pcs 4SET 20pcs

1SET

M6X18
2PCS

M4X10
8PCS

M3X28
4PCS

M4X16
2PCS

M6
4PCS



STEP 1:Extend Slider

STEP 3:Remove Runner

STEP 2:Push Lever Up

U1

U1

U1

U2

U2

U2

NOTE



Q

Q

F

F

H

H



5

6

Show the mounting holes on the back of the guide rail

Show the mounting holes on the back of the guide rail

U1

U1

V

V

V

V

U        4pcs V     8pcs

FRONT

FRONT

FRONT

FRONT

FRONT

FRONT

BACK

BACK

BACK

BACK

BACK

BACK

FRONT

FRONT



5

6

6

3



x6

8

x6

7

12pcs

6

29

6

6

29

29

4



8

8

10

10



x6

7

2

6pcs

2pcs

11

8

9

10 

6

9

11 

9

11 

10 





20

4

6

D G

G

D

D





C

15

15

C



L

L

U2

VV

V

V

V

V

Back

Back

Front

Front

U2 x4pcs V x 8pcs

V

Front





6

J

J

P

P P P

J

F

6
J

6
J



5

H

H

M

M

N

N

C



5

N

N

N

F H

H

T

T

T V

V

4set 4pcs

F

H



E

R

R

R

16

Step 29

Step 30

E



R

Rx2

17

Step 31


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21

